IWIKA"

AL B4

[ hisHiE

2= 910.14

R
A SR MR ) 1 22 Py R AR e

W IE

WA -PRARLAE Rtk Sk
T AL ) F IR G F R 5 DL

TR-PRUZ A Atz K
T RIBTRSCAN R R R 0L T

PR-PRARSUEEH A% Sk
TR BRSO R (R 0L T

BEIMBLUE (SS)
FAT /NI D3RR S B R (R s fLo A8 s 02150 s £ L Tw)
jg%?%i?%i HIWIKAZLRE (177 i, F 3 EREEE K 7 AMRIIE

Ehe-AhEEEsk
DIN 16 283%5ifE, ki ZEielBar, 7 —im A HERaL.
A SRV T HEIEIREL, NPT,

BEHIBLURE K
DIN 16 28445ifE, 4/ R LA RERIER T I, IXLERERS
RO AFHEE . ZAIAGE THERIRAL  HIAINPT,

i [ &
(5K S ) 3 P T s g R 1 T sl A ) iy s R Y

BAmE
DIN-FRHE R SR B B - SR, (D
711400 MPa, [ K7 G %.

IRIER Rk
LH/RH [ 25 e BB SO AT e B U 1 4 222585 1 IR 4 Ak
(EN 837-1).

FH/ RS ek i s
G%»/GY% B G 2400/6

LH/RH i3} H A BIRSGE L
G%/G%2LH G%I/IGY% B

FRIER
&%

Fef EN 837-1
JUSFRILABRURS WL R TR b

ZEs
i,
BRAN,
14571 AN

AL iE

BRSO 3 <8,
FFFRIREL



R~ [mm]

S - B RA 2 AR S IS - BH A2
od, ®d,
SW @d; SW od, Sl\ d, .
\4, fdy -
;_ N - ]
L - _7 —1 ~ iy ‘
_":‘ ‘ _L'n T : h lial
[ T - ‘ -
ods od; i
LL od, 94, 1035 347035 355 od; 1035 363
— LL 9d,
mdz -
oc:] |24 |
EESaE ez N IR ) sk
@d, od,
od, SW d, d,
- ‘ = - - | | =
} |
‘ - ®d,
¢d, ~ 1035 371 2 1035 398 @d. 1035 401
od, | |
Lol ek il PSR o 2
AES/L 0
, SW26
#d -RH r’?"‘] §i r'?'
_m | 11
= i N |
R NS R
¢d, -LH Sw @ i j
od, e
1035 380.01 od, 1035 410 1035 428
. SRS JUSF [mm) 2
it dy d ds d4 ds Iy I, s Iy ls | SW MEL e
ca. ca ca. ca. ca.
BA-FA G G%B 4.5 5 3 28 10 13 13 2 14 gt 90 90924
B24 Gk G%B 4.5 6 3 35 10 20 13 3 22 ] 90 90207
‘ GYa G'%sB 55 - 3 29 13 10 16.5 - 17 HEAf 90 90215
[ } J GV GFB 55 55 3 33 13 16 16.5 3 19 il 90 90223
_F GV G¥%B 55 6 3 38 13 20 16.5 3 22 AR 90 90231
f | j GV G¥%B 5.5 6 3.5 38 13 20 16.5 3 22 1.4571 90 84924
i G% % NPT 55 | - 3 | 30 | 13 | 13 | 165 | - 17 Wikl | 90 54936
GYa M 10 x 1 55 - 3 29 13 10 16.5 - 17 FH 90 64931
GV M12x1.5 55 5 3 32 13 13 16.5 2 17 AR 90 90240
G% G%B 7 5 3 36 16 13 19.5 2 22 TEA 90 90258
G % G¥%B 7 6 3 43 16 20 19.5 3 22 gt 90 90266
G% G%B 7 5 3 41 19 13 245 2 27 ] 90 90274
G% G%B 7 5 3.5 41 19 13 24.5 2 27 St 90 74937
G Ya NPT 7 - 3 43 19 13 24.5 - 27 AR 90 44930
G Ya NPT 7 - 3,5 43 19 13 24.5 - 27 1.4571 90 74929
G% GFB 7 55 3 45 19 16 24.5 3 27 TEA 90 90282
G% GFB 7 55 35 45 19 16 245 3 27 1.4571 90 24930
G% G¥%B 7 6 3.5 46 19 20 24.5 3 27 1.4571 90 94920
G Y2 NPT 7 - 3.5 44 19 19 24.5 - 27 1.4571 90 64923
G Y2 NPT 7 - 3 44 19 19 24.5 - 27 AR 90 34935
G% G3%B 7 6 3 45 19 20 24.5 5 27 TEA 90 90290
G% M12x 1.5 7 5 3 41 19 13 245 2 27 ] 90 90304
G M20x1.5 7 6 3.5 46 19 20 24.5 3 27 1.4571 90 14934
G M20x1.5 7 6 3 46 19 20 24.5 3 27 AR 90 90312
M12x1.5 G B 55 3 29 13 10 16.5 - 17 | 90 90320
M12x1.5 G%B 55 5 3 32 13 13 16.5 2 17 T 90 90339
M12x1.5 GFB 5.5 55 3 33 13 16 16.5 3 19 A 90 90347
M20x 1.5 G'%B 7 6 3 46 19 20 24.5 3 27 TH 90 90355




TFER 0 JOF [mm] —
it d, d, d, d, ds I 4 I2 I3 l4 s | qu e} %”ﬁ
ca. ca. ca. ca. ca.
WA -FA G G 45 - - 22 | 10 10 - - 14 H 90 84932
1247 G G 5.5 R R 26 | 13 10 - - 17 He 90 94938
G GV 55 - - 30 | 13 13 - - 17 HH 90 90363
G% G % 7 R R 36 | 19 13 N - 27 14571 | 90 14942
B E— - [G% G 7 - - 43 | 19 19 - - 27 14571 | 90 24948
G% G 7 - R 43 | 19 19 - - 27 H 90 90371
G% M20x 1.5 7 R R 43 | 19 19 - - 27 HH 90 91700
G% M20x 1.5 7 - - 43 | 19 19 - - 27 St 90 91718
G"% M20x 1.5 7 R R 43 | 19 19 N - 27 14571 | 90 91726
FH-FA G%B G%B 5 5 3 34 | 13 13 2 2 14 HH 90 90380
L G%B G%B 6 6 3 50 | 20 20 3 3 22 H 90 90398
{E@B} G%B G%B 6 6 35 | 50 | 20 20 3 3 22 14571 | 90 34943
G%B % NPT 6 R 35 | 49 | 20 - 3 - 22 14571 | 90 44949
SS A% G G"%B - 5 - 1145 | 1 N - 2 - W 90 91076
B aTHES G % NPT - 1135 | 1 R - W 90 14950
G F NPT - - R 19 | 155 - - - - HH 90 24956
G F NPT R - R 19 | 155 - R R R 14571 | 90 74945
G GFB - 55 - 19 | 155 - - 3 = 14571 | 90 64940
G GFB - 55 R 19 | 155 - - 3 - WA 90 91084
G G%B R 6 R 19 | 155 - R 3 - WA 90 91092
G G%B - 6 R 19 | 155 - R 3 R 14571 | 90 54944
G % NPT - - R 19 | 155 - - - - HEA 90 34951
G % NPT - - - 19 | 155 - - - - 1.4571 | 90 84940
G M20x 1.5 R 6 R 19 | 155 - - 3 - o 90 94946
EWElERSE |G %RH G Vo-LH 215 | - N 36 | 155 155 | - - 27 O 90 90401
3 G ¥%-RH G Y%LH 215 | - R 36 | 155 155 | - - 27 St 90 90410
DIN 16283 =% on G %LH 215 | - - 36 | 1565 155 | - - 27 | 14571 | 9092412
l G ¥%-RH M20x15-LH | 215 | - - 36 | 155 155 | - - 27 He 90 90428
! G %-RH M20x 15-LH | 215 | - R 36 | 155 155 | - - 27 St 90 90436
‘ M20 x15-RH |M20x 1.5-LH | 205 | - - 36 | 155 155 | - - 27 O 90 90444
BaEE G PN 250 6.5 - - 22 | 17 - - - 17 HA 90 90479
DIN16284 |G, PN 400 6.5 - - 22 17 - - - 17 St 90 90487
G% PN 250 125 | - - 30 | 24 R R R 27 Brass | 90 90495
‘ G% PN 400 125 | - R 30 | 24 R R - 27 St 90 90509
F } } G % PN 400 125 | - - 30 | 24 - - - 27 | 1.4571 | 9092382
! M12x15 | PN 250 6.5 - N 2 | 17 - - - 17 HEA 90 90517
M20x15 | PN 250 125 | - - 30 | 24 R - R 27 HEA 90 90525
& o 1
ﬁﬁffg 284 f,\jr 1(; f‘ 1/ 5 |95 55 | 6 25 | 30 - 6 4 - - #H 3| 90 90533
for G V4 /
Mizcis |95 55 | 6 25 | 30 - 6 4 - - St3 | 90 90541
for G 2/ 3
M 20 x 1.5 17.5 7 12 35 30 - 6 6 - - #4 9 | 90 90550
for G % /
Moocis 178 7 12 | 35 | 30 - 6 6 - - St3 | 9090568
forG Y/
Mooc1s 178 7 12 | 35 | 30 - 6 6 - - 1.4571 | 9092390
EHED G PN 100 4 N - 33 | 145 - - ~ [ 1910 St 90 90932
## 2) G PN 250 6 - - 37 | 145 - N - [1914 St 90 90452
G% PN 600 6 - - 46 | 20 - - - |27 St 90 90460
— G% PN 600 6 - - 46 | 20 - - = [2717 | 14571 | 9091734
[ | J G% PN 600 8 - - 46 | 20 - - - 2719 St 90 90940
: G% PN 600 8 - - 46 | 20 - - (2719 | 14571 | 9091742
i G% PN 600 10 - - 47 | 20 - N - 2722 St 90 91246
G% PN 600 10 - - 47 | 20 - - - [ 2722 | 14571 | 9091750
G% PN 600 12 - - 47 | 20 - - - 2724 St 90 91254
G% PN 600 12 - - 47 | 20 - - = [ 2724 | 14571 | 9091769
EER
A= G% <400 MPa JSF WL 4% St 90 91165

1
2

FCABRUAR R WRBT B A1 AR A BT HAS 57 AR R AT

) EN 837-1 i%:#%, G % B [4h

) LSRG A, PN 250 LA RS ATy, 0T LURUREE, A s ) AT R A -
100 °C = 11%, 200 °C = 20%, 300 °C = 29%, 400 °C = 33%.

3) 4 = Cu Zn 39 Pb 3 (2.0401).
St=9'S Mn Pb 28 (1.0718).



IR RIE K

[5A] A 7 T MR L DIN 16 282, %! = 6
per EN 837-1 1) JENEE Sk
od, od,
dds ®d;
od. ?d.
| = = |
\ |
o i !
N1 - 17
o = \
S |
|
8d, ®d,
¢‘du 1273 515
@d,
] ] L]
bRvfE d, SV@ d, | d, | dg E_ﬁi I, I, ly I Mkl
1.4571 St
G%B 20 | 147 | 6 7 4 40 | 20 | 32 5 90 94962 | 90 95020
EN 837-1 M20x152 | 20 147 | 6 7 4 40 | 20 | 32 5 9094970 | 90 95039
Y% NPT 20 | 147 | 6 7 4 40 | 20 | 32 5 90 94989 | 90 95047
G % B-LH 20 | 147 | - 7 - 40 | 20 - 5 90 94997 | 90 95055
DIN 16 282
M20x1.5-LH2| 20 | 147 | - 7 - 40 | 20 - 5 90 95004 | 90 95063

1) W LAFTDIN 16 282715 4
2) [{k5 1SO #2404 T DIN 16 288 : 19875k
% EN 837 J% DIN 16 282 IHH2 L AN S btk

T 551 AR

VT P A )

v = |

b T BTN o AT S3

EIREACR BT ST RN B A IE 15 244 BARARDL -

IWIKA!I

R B CGRID HRA
AR E bR 5 5 (i) A7 R A
(+86) 512 68788000
fEE: (+86) 512 68780300

T

44 info@wika.cn

www.wika.com.cn

=i

China 08. 2006 ( 9019448 10/2005 GB )



